Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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) ‘_i}followmg frequencies on pin P1.7.

Mlcrocontroller

Max Marks: 80

Note: Answer any FI VE full questions, choosing one full questzon ﬁqm each module.

Module-l
1ck is operated in 805 pc?

(06 Marks)

n'8051 pc (any four).(06 Marks)

(04 Marks)

Explain the bit pattern of progr%m states word. (06 Marks)

With a neat diagram, explain the steps to mterfaée 181( bytes of program RDM and 6 K bytes

of data ROM to 8031 based system,\ & (s (06 Marks)

Identify the addressing modes of thu\, sllowing mstructions:

i) MOV C, A, @A+DPTR ' N

ii) MOV DPTR, #1234

iii) MOV A, 4

iv) CLR C (04 Marks)

Write a program to find the square oot of a glven number (06 Marks)

With a neat diagram explain-the: r‘ange of JUMP and CALL instructions. (08 Marks)

Explain the following mstruc,tlons i) DA A, ii) ANL C’ P2 S (02 Marks)
: OR 3

What are assembler dzrec;wes‘? Explain any four of them w1th an example (06 Marks)

Assume that register ° ‘A" is loaded with number ‘N’ (any 1ntege
a program to coun’ /
Write a program

“value from 0 to 255). Write
©© number of ones in even numbered bits of accumulator (05 Marks)

’r/nplement the content of accumulator 62500t ) 55, (05 Marks)

Module-3

; w1tch is connected to pin P1.2. Write on 8051 C program to momtor ‘SW? and create the

2SW=0:500Hz
SW=1:750Hz
Use timer ‘0°, mode ‘1” for both of them. Assume crystal frequency = 11.0592 MHz.
(08 Marks)
Write an 8051C program to them bit P1.5 ON and OFF 50000 times. (03 Marks)
Write a program for counter “1” in mode 2 to count the clock pulse and display the state of
the TL, count on P2. (05 Marks)
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Module 4

(06 Marks)

erte an\SOSIC program to transfer the message “INDIA” serially at 9600 b nd rate, 8 bit

data dﬂd one stop bit, continuously. (06 Marks)
th -mportance of T and RI flags. R (04 Marks)

g A OR AN \\
What is an interrups? List the various interrupts of the 8051 w1th‘the1f corresponding vector
address (06 Marks)

(07 Marks)
(03 Marks)

(10 Marks)
(06 Marks)

i) All ports of A, B and C are O){P porls (mode “0%)
i) PA =IN, PB= OUT PCL = OUT and PCH = QUT (08 Marks)
S1-mi (08 Marks)
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